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l.3.S.ExactFrames-
✗ 1 . The number of vectors in a basis is always equal to the

dimension of the Hilbert
space under consideration

.

✗ 2
. Every set of rectums that spans H=G

"
and has more

than M reckons is necessarily redundant, i. e. , the set of vectors



is linearly dependent .

f) 3 . Removal of an arbitrary rectum from a basis for tech
leaves a set that no longer spans QM
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be a frame for H .

We call the frame
{ gs]sek exact if , for

one me K ,
the set { gets * m is incomplete

forth .

We call the frame { Geleen inexact if there is at

least one element gun that
can be removed from the frame ,

so

that the set {gsbe.im is again a frame .
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